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— » Determine thé speed of block A in Fig. 1, where block B has an upward speed of 6 ft/s.
(20%)
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Fig. 1

= ~ Two smooth disks A and B, having a mass of 1 and 2 kg, respectively, collide with initial

velocities as shown in Fig. 2. If the coefficient of restitution for the disks is e=0.75,
determine the x and y components of the final velocity of each disk after collision.
Neglect friction. (20%)
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Z ~ The collar C in Fig. 3 is moving downward with an acceleration of I m/s” . At the
instant shown, it has a speed of 2 m/s which gives links CB and AB an angular
velocity @, = @, =10 rad / 5. Determine the angular accelerations of CB and AB at this
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Fig. 3
W~ A 5x8 ftsign of uniform density weighs 270 1b and it supported by a ball and socket at
A and by two cables.

Determine the tension in each cable and the reaction at A. (20%)

h i e : Cmte e . 2.

A F @HERA




the force in members FH,GH, and GI of the roof truss shown in Fig. 5. (20%)
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